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Q.No: 1  Choose the incorrect statement about Swami Vivekanand
2427969
T} fadeTe & SR F el B BT =TT Y
He was born in 1863
A
FH1 O 1863 F gan U
His guru's name was Ramakrishna Paramhansa
B
Jd T[S I AT IAFHWN TR AT
He died in 1923
C
1923 ¥ 7 g @
His original name was Narendra Nath Dutta
D
STHT T A NG A W AT
Correct Ans : C
Subject : General Knowledge
Q.No: 2 Which of the following is not correctly matched?
2430650
Frofafad # & FH- 96 gafa T8 82
EXIM Bank - Import Export
A
EXIM 5% - 3mara fafa
RBI - Banker's Bank
B
RBI - &I 1 d&
IDBI - Industrial Finance
C
IDBI - SR faw
FCI - Commercial Bank
D
FCI - aftfoes §%
Correct Ans : D
Subject : General Knowledge
Q.No: 3 The call “India for the Indians” was given by _____in the year
2432424
SemeReiiw FraEH __ gmad_ F R mm e
Swami Vivekanand, 1776
A
writ fadere, 1776
Raja Ram Mohan Rai, 1976
B
1 I A A, 1976
Bal Gangadhar Tilak, 1976
C
1 TR e, 1976
D Dayananda Saraswati, 1876
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g WA, 1876
Correct Ans : D

Subject : General Knowledge

Q.No: 4 The resolution of Quit India Movement was passed by Congress in which of following session?

2433569

FrafaRed & 9 fou i & S gR1 URd B! idier P YRdra Uik f&ar mar ar?

Bombay
A

iR

Madras
B

HeTH

Calcutta
C

el

Lucknow
D

TGS

Correct Ans : A

Subject : General Knowledge

Q.No: 5 Which of the following is the largest company in India?

2434473
FrafaRed & 4 $H-9 WRa & qed T PN § ?
Flipkart
A
foRTpIE
India Bulls
B
ifem 3w
Bajaj
c
CEIE
Tata Consultancy Services
D

TTRT HHae Y T
Correct Ans : D

Subject : General Knowledge

Q.No: 6 How many countries share their boundary with India?

2437351
HRA & WY e 3= sroeht <fimn wrs - 82
8
A
8
7
B
o
6
5
D
5

Correct Ans : B

Subject : General Knowledge
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Q.No: 7 Which century witnessed commencement of devotional songs in India?

2440734
HRT H i Tl 3 goaa frg sl & g57
15th

A
159
16th

B
16 df
17th

C
17§
18th

D
184

Correct Ans : A

Subject : General Knowledge

Q.No: 8  Which player won maximum gold medals in the Tokyo Olympic 2020?

2440821
ARl Sreife 2020 F 7 faere) A waffte ol e o 82
Cealeb Dressel
A
& o
Emma Mckeon
B
T AFSi
Daiki Hashimoto
Cc
STEH BRI
Vitalina Batsarashkina
D

e sem=iT

Correct Ans : A

Subject : General Knowledge

Q.No: 9 Who created history by winning the World Championships Silver medal in the Women Wrestling Category?

2440831
Afga p=ait a7t 3 fay AR 31 o vew S sfogra fFe @
Geeta Phogat
A
e wirer
Vinesh Phogat
B
faRw BiTe
Anshu Malik
C
g A
Sakshi Malik
D
weft A

Correct Ans : C

Subject : General Knowledge

Q.No: 10 What is the name of the autobiography of Syed M. Ali?
2440938

I T, e B MDA BT H T 72
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My Way of Cricket

A
i 3 3ffp fbde
Cricket and Cricket
B
fordpe s frdpe
Tales of Cricket
Cc
e off fpde
Cricket Delightful
D

frde feamsega
Correct Ans : D

Subject : General Knowledge

Q.No: 11 Which city has a historic symbol which is known as TIR-GOLA?

2441131
T4 wex 1 Uep UdeRes weller & R foR-wiver & 1w Q I Skt 82
Balaghat
A
e
Barwani
B
gSart
Betul
C
aqa
Bhind
D
i

Correct Ans : B

Subject : General Knowledge

Q.No: 12 The pillar, Khambaba is made up of

2441194
@Y Sl TR
Iron
A
gt
Copper
B
qir
Lime stone
C
FAT IR
Quartzite sandstone
D

PICARE TGN TRR
Correct Ans : D

Subject : General Knowledge

Q.No: 13 Bihari Lal was born in which city?

2441311
et are &1 o fare <reR H g ur?
Bhopal

A
AT

B Indore
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«©@R

Sagar
C

R

Gwalior
D

R

Correct Ans : D

Subject : General Knowledge

Q.No: 14 Which of the following rivers do NOT have its source in Madhya Pradesh?

2441461
Frafarea # 9 o Tal 1 350 A e H T 82
Tapti
A
it
Mahanadi
B
il
Wainganga
C
T
Godavari
D
Teradt

Correct Ans : D

Subject : General Knowledge

Q.No: 15 How many recognized Scheduled Tribes does Madhya Pradesh have until April, 2021?

2441602
3, 2021 T T Y H et AR U Srgfad Sieonfaar 82
27
A
27
32
B
32
46
c
46
58
D
58

Correct Ans : C

Subject : General Knowledge

Q.No: 16 Permanent benches of High Courts of Indore and Gwalior were established in which of the following years?

2441712
R SR IR & Iea e @1 el NSt o R Fafifed § 3 few af § @ 1 e
1956

A
1956
1968

B
1968

C 1971
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1971

1989

1989
Correct Ans : B

Subject : General Knowledge

Q.No: 17 Who is the Current Governor of Madhya Pradesh?

2441731
T VI F A ASAUT B §2
Shri Lal Ji Tondon
A
ot @ ot 87
Smt. Anandiben Patel
B
et S wew
Shri Mangubhai Patel
C
oft g wew
Shri O.P. Kohli
D

ot 3.4, Preet

Correct Ans : C

Subject : General Knowledge

Q.No: 18 How many projects have been approved under the Central Road & Infrastructure Fund (CRIF)scheme for 2021-22 in Madhya Pradesh?

2441830

e Y™ H 2021-22 F i Yo IS TS FFRIR S (CRIF) AT F dgd fear! uRdiormst & dedt & 8 82

17
A

17

23
B

23

28
c

28

32
D

32

Correct Ans : B

Subject : General Knowledge

Q.No: 19 The central government permitted states to increase their fiscal deficit up to of GSDP in 2020-21.
2441890

F WHR T 2020-21 T T AT BV 340 I5BNG U Y ofipay  ggH @1 ogafd f 71

3%
A

3%

5%
B

5%

8%
C

8%

10%
D

10%

Correct Ans : B


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Subject : General Knowledge

Q.No: 20 1.K. Temple is situated in which district of Uttar Pradesh?

2442495
.. Hifex I wew ¥ e forr & R &2
Mathura
A
R
Prayagraj
B
YRS
Kanpur
C
PR
Lucknow
D
TGS

Correct Ans : C

Subject : General Knowledge

Q.No: 21 Following what can reduce the possibility of getting diseases?

2423042
T+ STell 1 UTer X & I T Bl Gl S & Febell 82
Alcohol consumption
A
RIS BT HaT
Balanced diet
B
Tt SMER
Fad diet
Cc
LdcakhicE]
Eating junk food
D

SARADY Gl
Correct Ans : B

Subject : General Science

Q.No: 22 Which of the following is the phenomenon of splitting of lights into its constitute colors?

2425731
FrofifEd ¥ & W verw F o 1fda S F ffoa 7 @) wem g
Refraction of light
A
TR BT T
Dispersion of light
B
WP T Yol
Reflection of light
C
IR BT TR
None
D
B T

Correct Ans : B

Subject : General Science

Q.No: 23 What can be defined as the rate at which work is completed, as well as the quantity of energy spent per unit of time?
2425885
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oY GR UR pIH Y gldl &, 1Y gl Yid Yld4C HHY H dd Dl g GHyll ol HIAl o U H dl URHING [hdl vl dcbdl 67

Friction
A

L]

Resistance
B

Tferiy

Velocity
C

Eul

Power
D

R

Correct Ans : D

Subject : General Science

Q.No: 24 is the study of the interrelationships between various components of air, natural cycles, earth's geological processes, and climate.
2429264

g & fAftm weal, Urpfad dwi, gt B yaqe Ui oIk Saary ¥ dia siawds &1 s g

Meteorology

A

Sfafe-faqr

Weatherlogy
B

Hrew R

Technology
C

et

Climatology
D

e femr

Correct Ans : A

Subject : General Science

Q.No: 25 The mode of nutrition of Agaricus is -

2429896
IF F Ao BTl -
parasitic
A
Lisicl
autotropic
B
sfaghe
saprotrophs
(9
e
detritivoress
D

fgcarcy

Correct Ans : C

Subject : General Science

Q.No: 26 Observe the following figure given below. This organism belongs to which kingdom?
2429912
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Chromosome

Inclusion

Flagellum

shmo layer

Plasmid Cell wall

Cell membrane

1 few g fom 1 e @ AU T e 5w I @ 2

Chromosome
Pilus (f.mbria)

Riboscmes

Flagellum g

\Q/
G Nt~ capsue o
™ shme layer

Cell wall

Plazmid

Cell membrane

Monera
A

Eion|

Protista
B

e

fungi
C

Pab

eukaryotes
D

e

Correct Ans : A

Subject : General Science

Q.No: 27 Observe the following figure given below. This organism belongs to which kingdom?

2429922 1;7‘,@/&%(\]
:\ (/ @ /"
N

i

\
e

( &Pfeurobrachia

N

IEREN

~N

13 e g o Y e @ 3 I it o Isg @1 82

V7

!
2

Vo7
( &’Ieurobrachia
. RN

e

N

cnidaria

Frefar

Ctenophora

PEABRT

Nematoda

ST
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] Platyheiminthes

iR

Correct Ans : B

Subject : General Science

Q.No: 28 Which one of the following is the odd one out?

2429954
Frafafea # 4 o9 W @ fawm &2
choanocytes
A
g
polymorphism
B
ggEudl
polyp and medusae
C
dfefi iR Agd
central gastrovascular cavity
D

Fe REARG R o
Correct Ans : A

Subject : General Science

Q.No: 29 A Compound that can be used as both an antiseptic and a disinfectant is

2430165
T AF o T T SR UF SRS G & w9 § 3T far of S 8
Phenol
A
et
Terpineol
B
ELiRIS]
Teflon
C
TR
Polymer
D
R

Correct Ans : A

Subject : General Science

Q.No: 30 is a physical quantity that measures the amount of motion of a moving body.
2430376

T ifdeE g § S U TfoEH e @t i) 3 9 B A )

Pressure
A

«q

Momentum
B

T

Fluids
C

we garef

Buoyant
D

o

Correct Ans : B

Subject : General Science
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Q.No: 31 Aurora Borealis is also known as the -

2431640
IR SRferd B b T F +f S S 82
Equator lights
A
AT YT AL
Northern lights
B
It A
Southern lights
C
afaroft J=rt
Winter lights
D
SficrpTetT L

Correct Ans : B

Subject : General Science

Q.No: 32 The cell which results after fusion of the is called a zygote.
2432185

|HRGN__ $ IO $ 18 §91 8, THS Pgard 2l

Ovum
A
L
Pollen tube
B
RAEE O
Pollen grain
c
TRITHT
Gametes
D
Rt

Correct Ans : D

Subject : General Science

Q.No: 33 Which of the following is not caused by bacteria?

2432211
Frofafea & 9 o1 SR $1 SR - ST 87
Cholera
A
e
Typhoid
B
CRPIRS
Tuberculosis
c
& T
Hepatitis A
D
sUerEfeE A

Correct Ans : D

Subject : General Science

Q.No: 34 As per the balanced diet chart which of the following should be taken in the lowest quantity?
2434278

T SMER =1E F SR g § § Fa F0 7m0 § o1 o =rfee?
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A Sugar
Gkl
Pulses
B
Eich
Milk
C
™
Vegetables
D
wfesra

Correct Ans : A

Subject : General Science

Q.No: 35 In which year did the Government of India start the Total Sanitation Campaign (TSC)?

2434334

HRT PR A 59 7 7 wquf @ sftmm (S Jfewm F) (TSC) & fwam ure

1991
A

1991

1995
B

1995

1999
c

1999

2003
D

2003

Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?\

2422600
9,12, 11, 14, 13, 19, 15
Al | TTed $H PT T Te?
9,12, 11, 14, 13, 19, 15
15
A
15
19
B
19
14
C
14
12
D
12

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Suman walks 15 meters towards West. After that she turns to the right. Then walks 15 meters and then she turns to her left and walks 10 metres. Then she turns to her broth
2426359 the starting point of his walk to the present place?
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[YHA 15 Hick UIgH ol ¥R ddd] g1 X dig dg alg SR Hg vildl g1 112 15 HIC dadd] g SR 1WR dg dIg HIR 4 vildl & d¥dl 10 Hick deidl g1 1R dg U HIg IR obR 15 HIcR doldl g1 ddi¥ |

I

25 meters

25 X

40 meters

40 Hiex

30 meters

30 iR

55 meters

55 Hix
Correct Ans : A

Subject : General Reasoning

Q.No: 38 The diagram represents the likes of kids of a class.

2426576
e
T
Orange
The ratio of kids who like orange to those who like all the three is -
N TP el & I 9 TG B S g1
HEE
X eb .
ki
TR TG HRA AT Tl BT il BT UHG HRA d1ell o S0 8-
8/11
A
8/11
26/11
B
26/11
11/9
C
11/9
11/8
D
11/8

Correct Ans : D

Subject : General Reasoning

Q.No: 39 Select the Lettered pair that has the same relationship as given in the questions:
2426830
Creche : Infants

I 3R G PT I B foreT au usit 7w T awH dey @
¥ : Ry

School : Pupils

Tererrera : feremelf
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Bedlam : Lunatics

9qAM : I
Deck : Sailors
c
$F : TE
Cottage : Beggar
D

Fiew : framd
Correct Ans : B

Subject : General Reasoning

Q.No: 40 Find the missing term in the following series.

2428321
G13T, I11R, L90O, ?
frafafed sae & 9w ue I Sifee
G13T, I11R, L90Q, ?

POK

A
POK
P5L

B
P5L
P5]

c
P53
P7K

D
P7K

Correct Ans : D

Subject : General Reasoning

Q.No: 41  Select the option that is related to the third term in the same way as the second term is related to the first term.

2429553
ROSE : ORES :: FILE : ?
I4 fadheq BT 759 B3 S R U A ST UBR Galda § S g1 UG Ued U 9 Hafid 21
ROSE : ORES :: FILE : ?
IFLE
A
IFLE
IEFL
B
IEFL
IFEL
c
IFEL
IELF
D
IELF

Correct Ans : C

Subject : General Reasoning

Q.No: 42 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433454
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.f:i.:::?

Answer Figures

@B B |

(a) (b) O] (d)

I4 fahed 1 799 HY S et gfa § St YR WEid B o TR et ol ugeh spfa & HEfia 21
T 3G :

.f:i':::?

IR 3G :

(a) (b) (<) (d)

(a)

(a)
(b)

(b)
(c)

(c)
(d)

(d)
Correct Ans : B

Subject : General Reasoning

Q.No: 43 A particular Analogy is being shown. Understand the logic and complete the analogy by selecting correct option:

2434085
o ||e<if=| ()

?

O A9 ArgeT ZariaT AT &) AT A T A o A A AR A A AL

O (o<l () |5 2
=
=
=
=
I
I
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=

=

Correct Ans : B

Subject : General Reasoning

Q.No: 44 1In the following question, select the odd number from the given alternatives.

2435044
Froafafad uy # fau ¢ faswed § § fawm dom o1 997 S|
127
A
127
118
B
118
77
C
77
57
D
57

Correct Ans : A

Subject : General Reasoning

Q.No: 45 In the following question, select the odd number-pair from the given alternatives.

2435074
Frafafad vy & Ry ¢ fael & 3 favd s g9 &1 gl
7-54
A
7-54
3-15
B
3-15
12 - 149
c
12 - 149
9-86
D
9-86

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Identify the classes that best represents the relationship among the given diagram.
2435620

I @ B UgEHE B S T T SR F ffT ey o1 e o1 ARt awd g1

Rfmcamln Amfuanla Alaafba
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A - L _
WAYRY, I, FPR1®
Sociology, psychology, Humanities
B
TSI, FAeH, Ff!
Teachers, scholar, Students
C
R, R, B0
Gardens, Flowers, vegetables
D

I, T, wfewat
Correct Ans : B

Subject : General Reasoning

Q.No: 47 How many triangles are in the given diagram?

2437709

fau Mg e # fbe Byt 82

15
A

15

18
B

18

12
c

12

20
D

20

Correct Ans : A

Subject : General Reasoning

Q.No: 48 My dog Bunty, runs 30 m towards west, turns left and runs 10 m, then turns right, and runs 5 m, then turns left and runs 2 m and again turns right, runs 12 m. Finally it turns

2438487
TRT GalT &S, Uiy 3 SiR 30 TiieR Sied €, ¢ Har § SR 10 Hiex Jsar 3, R a1t gear §, ok 5 Hier frear 7, R @ gear @ ok 2 diex Qe ? SR iR Y et gear 7, 12 Wex Srean 81 <
East
A
Ll
West
B
ufgw

C North
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South

afor

Correct Ans : D

Subject : General Reasoning

Q.No: 49 Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.

2438831
Frofifa IR Sen-ge & A 99 den-gw i R el ¥ e R & 9uE § ok 39 A Ue GS-gr SREF 1 I SRIA WS- 1 9o SR
4:17
A
4:17
10:99
B
10:99
5:26
c
5:26
9:82
D
9:82

Correct Ans : B

Subject : General Reasoning

Q.No: 50 Pointing to a lady in a photograph Renuka said, "She is the mother of the boy, whose father is my brother". How is Renuka related to that lady?

2439337
TP TER # U@ At 3 SR IR IR §U [T A g, "9 59 s @i A ¢, g fOar & urg 81 Yo 39 aiker I 59 veRr Geifda 82
Sister
A
Ergl
Niece
B
el
Cousin
C
T T
Sister-in-law
D

undt

Correct Ans : D

Subject : General Reasoning

Q.No: 51 Choose the group of letter which is different from other.

2439460

el % 9 O B AT S o F e B

BGIN
A

BGIN

EKmS
B

EKmS

MPnS
o

MPnS

D EgIM
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EgIM

Correct Ans : D

Subject : General Reasoning

Q.No: 52
2440266

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If he gets the financial aid, he will be in a position to bear the expenses.

A. he got the financial aid

B. he did not get the financial aid

C. he is in a position to bear the expenses.

D. He is not in a position to bear the expenses.

o T gy H 9@ HF SR IF 18 TR HUA §| Y BT BT GH A, 6T Ugd HYT B IR IR YA F 7, AR & FYF qifdd FU ¥ T FU Y W T
ofE 38 snfifes weraan frerdh 8, @ 98 Y 96 R ot R & g

A. S ot wgraan firet

B. I M worra e firelt

C. T T ag1 px i R A 81

D. 98 WG9 a5 &R ot Rl & 7T {1
BD

BD
BC

BC
DA

DA
DB

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 53
2440319

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
You are either selfish or selfless

A. You are selfish

B. You are not selfish

C. You are selfless

D. You are not selfless

T e vy F GBI FUA AR I9F 918 TR FUA &1 YA BT B T A, T8 Ugd Y B aed g Y G 7, SR &) Fy aifhe T F g $YH @ 9 8
o 71 < @l § an famd

A. 3 w@rif §

B. g wrdf i ¥

C. o Frwand §

D. 3my fward 7t §

AC

AC
DA

DA
cD

cD
AB

AB
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Lorrect Ans | B

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2aa0sst The director is either sane or insane

A. The director is sane

B. The director is insane

C. The director is not Insane

D. The director is not sane

foT 70 vy § g U SR IS 91Q TR BUT §1 FUAT BT I JH I, TE1 T5Q HUT P A0 gk FUA I 3, R J FUF AP T F TOF BT § WA 3
FRv® o & WeRER § O ara

A, % gvERR B

B. Pz U &

C. Pz e g ¥

D. FEYF TAgER T §
AD

AD
DB

DB
cB

cB
AB

AB
Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442006
Pants : Clothing
fau u faedl # & Hefra <reg 71 F
ey : HUST
3 : Odd number
A
3 : faw wem
B Tree : Wood
q8f: TP
Worm : Fabric
C
P FUS
Sugarcane : Silk
D

T R
Correct Ans : A

Subject : General Reasoning

Q.No: 56 Find the amount of Rs. 7110 for 18 months at 12% per annum, the interest being compounded semi-annually.
2423632

7110 393 F 18 WER & RIT 12% uid o B X Q, S aief-arfifp 2 €, Faw fRean wan &1 v ARy g g
Rs.2900.8029

Rs.2900.8029
B Rs.2567.7136
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Rs.2567.7136

Rs.8468.12376

Rs.8468.12376
Rs.7654.0812

Rs.7654.0812
Correct Ans : C

Subject : General Maths

Q.No: 57 The present population of a town is 45800. If it increases at the rate of 4% per annum, what will be its population after 2 years?

2423657
TF FR P ga0 SRS 45800 B1 AR a8 4% U 9 &5 R F weh ], o 2 oY a1 S sgen @1 gelie
4321.234

A
4321.234
49537.28

B
49537.28
3150.730

o
3150.730
79123.95

D
79123.95

Correct Ans : B

Subject : General Maths

Q.No: 58 At what rate percent compound interest per annum will Rs. 3610 amount to Rs. 4840 in 2 years?

2423674
e X R ufad Tegles s ey . 3610 AR ¥ ¥, 2 W9 H 48407
35.20%
A
35.20%
54.80%
B
54.80%
15.78%
C
15.78%
15.20%
D
15.20%

Correct Ans : C

Subject : General Maths

Q.No: 59 Solve:

2428557
G+1-8x1+4H+(10+2+7-12)
Fuk:zd
G+1-8x1+4)+(10+2+7-12)
a

A
a

B
2
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8
Correct Ans : A
Subject : General Maths

Q.No: 60 Express the following ratio in the simplest form.

2429418
289 :340: 510
ST BT IAdH = & ad H:
289 : 340 : 510
17:20:30

A
17:20:30
26:73:87

B
26:73:87
55:17:45

C
55:17:45
37:11:13

D
37:11:13

Correct Ans : A

Subject : General Maths

Q.No: 61 The average weight of 8 person's increases by 2.5 kg when a new person comes in place of one of them weighing 65 kg. What might be the weight of the new person?

2432537
8 Sfaadll F1 ofGd YR 2.5 {3l 9 W1 § & 1 I UF TR &1 9o 65 fbell & WIF W T 791 AfeRT ATl 1 Y AfET 1 Ior 1 & Fohell 82
95 kg
A
95 kg
80 kg
B
80 kg
85 kg
c
85 kg
83 kg
D
83 kg

Correct Ans : C

Subject : General Maths

Q.No: 62 Find average of natural numbers from 1 to 67?

2432558
1 9 67 q% Wipd G BT Gd 0 B2
33.5

A
33.5
34

B
34
50

c

50
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67
Correct Ans : B

Subject : General Maths

g‘-"\:‘,";o‘;i What should come in place of question mark in the following number series?

7% of 8% = 768

Frafotag dear-gaar A watueg (?7) F T79 I /T AT A0 ?

7% 77 8% = 768

153
A

153

150
B

150

156
C

156

154
D

154

Correct Ans : B

Subject : General Maths

Q.No: 64 The average height of a family of five members is 160 cm. If the heights of 4 family members is 165, 162, 155 and 160, find the height of the fifth member.
2433851

i Tt & uRar S 3frd Targ 160 it B1 Al IRaR F 4 Wedi o @5ETs 165, 162, 155 SR 160 §, o UHd Uew & TETs 1 i

168 cm
A

168 i

162 cm
B

162 It

158 cm
C

158 It

160 cm
D

160 It

Correct Ans : C
Subject : General Maths

Q.No: 65 2 6x0.91="

2433985
2.6x0.91="?
2.366
A
2.366
0.2366
B
0.2366
23.66
C
23.66

D 236.6
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236.6
Correct Ans : A

Subject : General Maths

22.';‘1{76560 If x6 + yb = x3y3, then find the value of (x° + y9)?

T x5+ y6 = x3y3 8, Al (x° + y9) BT HH J1d D2

2
A

2

o
B

o

3
C

3

1
D

1

Correct Ans : B

Subject : General Maths

Q.No: 67 A shrewd merchant claims to sell his items at cost price but he uses a weight of 440 grams for 500 grams. What is the profit percentage earned by merchant?

2435253
U% IEAM GHHGR (U R 1 9 Yed W T3 P G1aT a1 § QD 98 500 U & R W 440 U & §ie $T WOH ST §1 HMHIR gRI Afofd wlaerd any 3 aiforg?
13.63%
A
13.63%
16.67%
B
16.67%
12.5%
c
12.5%
9.67%
D
9.67%

Correct Ans : A

Subject : General Maths

Q.No: 68 The salary of three workers Ram, Raghu and Rahim are Rs. 3819. If they spend 65%, 70% and 90% of their salary respectively their savings are as 14 : 8 : 6. Find the salary

2435443
i wfret T, Y SR T BT IaT 3819 TU §1 AR T SO I BT HH: 65%, 70% 3R 90% T B T, O ITH! §9 BT SFIUW 14: 8: 6 T A HI I I1d BRI
Rs. 1206
A
1206 IR
Rs. 250
B
250 ¥9
Rs. 1530
C
1530 ¥04
Rs. 1720
D
1720 308

Correct Ans : A
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Subject : General Maths

QNo: 89 Find the value of 20.05 - [3.06 - {3.57 + (6.24 x 709 = 1.59)}]

2437511
20.05 - [3.06 - {3.57 + (6.24 x 7.09 = 1.59)} | BT AF T R
36.02
A
36.02
25.32
B
25.32
32.85
c
32.85
36.16
D
36.16

Correct Ans : D

Subject : General Maths

(22;1'\;(;97608 What should comein place of question mark in the following number series?
V132 + 8 +2%+ V1799 + .7 + 134 =7
Frafota ssar-gaar § waf=eg (?) F =7 ICFT A7 901eg?
V132+8+22+ 1799+ 7 +134 =2
63
A
63
71
B
71
68
C
68
65
D
65

Correct Ans : D

Subject : General Maths

Q.No: 71 If PALE is coded as 2134, EARTH is coded as 41590, how is PEARL coded?

2426496
TfE PALE FY 2134, EARTH 1 41590 ¥ &0 A $HIfSd a1 S €, @ PEARL &1 $HQ $HifSa fwar siam 2
29530
A
29530
24153
B
24153
25413
C
25413
25430
D
25430

Correct Ans : B
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Supject : Mental Ability

Q.No: 72 In a certain code language if STAIR is coded as TVDMW then what will BOARD coded in that language?
2434411

& ffdd He uw , afE STAIR S TVDMW & ¥9 & Feas a1 orar § o 35t e 41 & BOARD &1 & geas &ar sem?

CQCVF
A
CQCVF
cQDVI
B
cQDVI
DQCVI
C
DQCVI
CcQDWI
D
CcQDWI

Correct Ans : B
Subject : Mental Ability

Q.No: 73 In a certain code language, if TOOLS is coded as TNRQU then what will CHAIR be coded as in that language?

2434447

T fAf¥d F W H, afE TOOLS B TNRQU & ¥4 H G bl Siram § of IH He o H CHAIR &1 $8 Feas faar smam?

SKCID
A

SKCID

RKCID
B

RKCID

SKDID
[

SKDJID

SKDIC
D

SKDIC

Correct Ans : C
Subject : Mental Ability

Q.No: 74 In a certain code language, ‘ROSE’ is coded as '36303810’. How will ‘LOTUS’ be coded as in that language?
2434970

T fAfdd He 4T §, 'ROSE' #1 '36303810' & ¥4 & Ffed fawar war 31 39 w191 # 'LOTUS’ &1 Y ferar smumm?

2232414036
A

2232414036

2430404238
B

2430404238

2032414339
C

2032414339

2430424040
D

2430424040

Correct Ans : B

Subject : Mental Ability

Q.No: 75 In question below are two statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varian
2435483 (onclusions logically follows from the given statements.
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Statements:

1. Some books are files.

II. No file is paper.
Conclusions:

I. No paper is a file.

II. Some papers are books.

II1. Some files are books.

= faw T vy # &1 Py SR IuF a1Q fF e 1, 11 9R 111 3T I 81 S T G o T I A g, HA € T W qedt & i et g1 §F 9 iR T R 6 i i fow e e
FU:

1. $% [&ae wiga g1

IL 3T wigd TR 74 81

fopd:

L. P IR e T §l

I1. $© IR fram g

I11. $& BIgd fbdd g1

All the conclusions follow.

T+t e argeRoT e 71

Only conclusions I and III follow.

Paq ey I 3R III 3FeR0 o3a 81

Only conclusions II and III follow.

Poa Y 1T 3R 1T SITWRu FRa &1

Only conclusions I follows.

ae e 1 SgeR v ¢
Correct Ans : B
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varia
2435543 onclusions logically follows from the given statements.

Statements:

1. All donkey are tiger.
II. All horse are tiger .
III. All tiger are lion.
Conclusions:

1. All lion are donkey.
II. All horse are lion.

III. Some lion are donkey.

1w g uy A R B IR 3P ag A e 1, 11 o 111 T T §) et U T el Y T AT ], IR d IERIG: 9 At 9§ e welia gar B, simue fAvfa s @ 6 few i e 1
T

L ogft 1l wma g

11, 9 €IS T8 8

1L i T W T

e

Lafi WA T

IL @R A W

111 $8 W §

Either conclusion I or II follows.

a1 ot s 1 a7 11 SR R B

Neither conclusion I nor II follows.

T s 1 iR T 1T SR Fen 21
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C Only conclusion L1 Tollows.

S Py 11 SFFeR0 v B

Both conclusions II and III follows.

2Rt e 11 TR XX SigeRy 7a B

Correct Ans : D

Subject : Mental Ability

Q.No: 77 What is the least number of cuts required to form exactly 200 identical pieces from a cube?

2438439
TH I § 3% 200 TAM ghS T & [T 3MT%0F el P Faad Jug o 37
99
A
99
15
B
15
20
o
20
100
D
100

Correct Ans : B
Subject : Mental Ability

Q.No: 78 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439102 the given conclusions, if any follow from the given statements.

Statements:

No nurse is a doctor.

All doctors are singers.

All nurses are dancers.
Conclusions:

I. Some nurses are singers.

II. Some dancers are doctors.

R g T vy F T Hu 91 S9S a3 ey 1 quT 11 RT e ¥ 1 euep! oy T e 1 9 WA §, 49 € 95 waea a9 i Tl g 8 a1 Bl 3 SR TR SIUeT ST SR o §
P

g ot 7 Seer T B

Tt SRR TS Tl

Tt T SRR B

Frep:

. 39 T TAS g

II. $ SR SiaeR &l

Both conclusion I and II follow

A
e 1 SR I ST SRR BRa §
Neither conclusion I nor II follows
B
T e 1 3R T € 11 SR FRaT
Only conclusion I follow
C
Paat Iy 1 SFTER FRal §
Only conclusion II follows
D

el ey IT e ST §

Correct Ans : B
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Supject : Mental Ability

Q.No: 79 If vegetables is called plants, plants is called street, street is called road, road is called balcony, balcony is called floor and floor is called roof. Where a girl driving a scooter?

2439216
gfesral o1 dte He1 W, el B T el WY, Tl Y GSP Bl Y, YSD Bl A1 Bl Y, qIadh-1 I B2 Hgl oY 3R B B §d gl oY TSB! gl Tpel gar 82
Balcony

A
Ciccal
Road

B
Lieca
Floor

C
o
Roof

D
od

Correct Ans : A
Subject : Mental Ability

Q.No: 80 If'wall’ is called ‘brick’, *brick’ is called ‘door’, ‘door’ is called ‘floor’, floor’ is called ‘roof' and ‘roof is called ‘cement’, then we enter in the room through which one of them?

2439285
I AR B 5, $T B GRS, AN BB, B B BA AR DA’ B HAST BT O, R 57 I A s weam § o F B 87
Window
A
fasat
Wwall
B
R
Floor
C
wf
Roof
D
ad

Correct Ans : C
Subject : Mental Ability

Q.No: 81 Rama ranks sixteenth from the top and fifteenth from the bottom in a certain examination. How many students are there in the class?

2439538
M &1 ®IF TF T e & 9 § deedl R 2 § Siagal R 31 39! Fal K B @ d S8 e 32
30
A
30
31
B
31
32
C
32
33
D
33

Correct Ans : A

Subject : Mental Ability

Q.No: 82 If ‘MACHINE' is coded as 19-7-9- 14-15-20-11, then how will you code ‘DANGER' in the same code?
2442213
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Ulg-MACHINE "] 19-/-9- 14-15-20-11 @ Y H olisd [pdl 1] g, dl $lIY 34l s H "DANGER’ @l abls o ¢il?

11-7-20-16-11-24

A
11-7-20-16-11-24
13-7-20-9-11-25
B
13-7-20-9-11-25
10-7-20-13-11-24
C
10-7-20-13-11-24
13-7-20-10-11-25
D

13-7-20-10-11-25
Correct Ans : C

Subject : Mental Ability

Q.No: 83 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2442782
BROWNEST
fau U Ao wed! # ¥ 95 Wea MG Sff AT TTQ Weg F 1arY BT T BB TG ST S Hebell|
BROWNEST
Brown

A
Brown
Nest

B
Nest
Town

C
Town
Honest

D
Honest

Correct Ans : D
Subject : Mental Ability

Q.No: 84  Which one word can be formed from the following letters ?
2442877
tmner ranage

Frofafaa sl § S 91 TF s SR ST THdT 32

t mner ranage

absorptive
A
absorptive
arrangement
B
arrangement
advections
C
advections
abruptions
D
abruptions

Correct Ans : B
Subject : Mental Ability

Q.No: 85 From the given alternative words, select the word which can be formed using the letters of the given word.
2443001

SOMNAMBULISM
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Fofafea faeed # 3 75 Wea I S 3T T g & 1ar BT UURT SRS ST O 9 gl

SOMNAMBULISM
NAMES

NAMES
BASALT

BASALT
SOuUL

SOUL
BIOME

BIOME
Correct Ans : C
Subject : Mental Ability

Q.No: 86 If 60 girls can prepare 800 garlands in 5 hours, how many girls are needed to prepare 860 garlands in 1 hour?

2423725
T 60 TSl 5 B H 800 HIAT IR TR IHdl &, o 1 U H 860 A dOR T3 & o et arsfeal 3t maxadar grit?
215 girls
A
215 Tefhat
260 girls
B
260 TSfHar
312 girls
C
312 Fefear
260 girls
D
260 TEfFa

Correct Ans : A

Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 46 days and B in 44 days. They work together for 7 days and then A goes away. In how many days will B finish the remaining work?
2423744

A 3R B TF W BT 46 AT 7 3R B, 44 A # o= Iwa €13 7 RFH 00 19 91y of xat § SiR iR A =an o 21 2w of Y B fram A1 o o wom?
1465/31 days

A
1465/31 f&a
2321/21 days
B
2321721 @
1871/53 days
C
1871/53 &A1
1716/46 days
D

1716/46 f&a
Correct Ans : D

Subject : General Aptitude

Q.No: 88 Find circle’s radius if circle’s area’s is 110 cm?.
2426210

Tl ST ERT Wisl T Aol o7 8YAheT 110 J#R g1

A 12.4 cm
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12.4 FéfeR

5.91 cm

5.91 ¥R
6.97 cm

6.97 YR
4,26 cm

4.26
Correct Ans : B

Subject : General Aptitude

Q.No: 89 Which of the following is divisible by 12?

2427608

e & 4 S 12  fausa 32

312891
A

312891

643289
B

643289

1443612
c

1443612

236709
D

236709

Correct Ans : C

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 12?

2427621
e & 4 3 12 9 faursa 32
863125890765432

A
863125890765432
567798653135780

B
567798653135780
245787554312

c
245787554312
765415788532159743950

D

765415788532159743950
Correct Ans : C

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 9?

2427634
Froffad & d o 9 A fausa 32
18401028391271

A
18401028391271
38491847401358

B

38491847401358
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164910174921491
C

164910174921491

24577223466831
D

245777223466831

Correct Ans : D

Subject : General Aptitude

Q.No: 92 A mother is three times as old as her daughter. After fifteen years, the mother will be twice as old as her daughter at that time. Hence, the mother’s present age is?

2431189
T A o 9 T omg F T 9 ¥ | Usg Iul a1, 39 9y 7 SO 9 B ong H AR & S o , 7 @Y o ey @2
38
A 38
40
B
40
45
c
45
44
D 44

Correct Ans : C

Subject : General Aptitude

Q.No: 93 Five sharpeners and six erasers cost Rs. 28. Six sharpeners and five erasers cost Rs. 27. Find the cost (in Rs.) of each sharpener and each eraser respectively.
2431200

Ui IR 3R B8 W6 B FIAG 28 T, §1 T8 WUR 3R T WS P I 27 3. §1 TS YR $iR TdS 398 B HIA: G (3 H) T S

3,2
A

3,2

2,3
B

1,
c

1,

4,1
D

4,1

Correct Ans : B

Subject : General Aptitude

Q.No: 94 In AABC, 4B is a right angle, AC = 6cm, and D is the mid-point of AC. The length of BD is:
2431340 AABC ¥, 4B TF GHSIU B, AC = 6 .11 T4 D, AC F1 HeAfdg § Yol BD $ darg I i

4 cm
A af
2cm
B 2 9
3cm
¢ 3
D 1.5cm
1.5 3t

Correct Ans : C

Subject : General Aptitude

Q.No: 95 The area of semi-circle whose radius is 14.7 cm,?

2433762
siefqa @1 dmwa et Bwar 14.7 S5 g2
110
A
110
108.57
B
108.57
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108

108
109.56

109.56
Correct Ans : B

Subject : General Aptitude

Q.No: 96 A pizza is chopped into four parts, find the area of each part whose radius is 49 cm?

2433779

TF I B AR YR § el ST B, TAF U H1 A J1d Biforg foryast fisar 49 dft 82

1886.5
A

1886.5

216.5
B

216.5

188.5
c

188.5

186.5
D

186.5

Correct Ans : A
Subject : General Aptitude

Q.No: 97 The ratio of Amit’s age to Anil’s age is 5 : 4. ‘Amit’ will be 30 years old after 5 years. The age of Anil now is:

2436892

A 9 S BT ST BT Y F ST 5: 4 F1 5 9 G 1A F 3rg 30 a¥ gRfi | SN BT A Sy e BRI

12 years
A

127§

15 years
B

15 qf

20 years
c

20

22 years
D

22 9

Correct Ans : C

Subject : General Aptitude

Q.No: 98 3 -3
2444467 The simplified form of (162 + 16z + 16)is:

3 -3 R
(167 + 16 + 16) HT LAIEA A1 5?

0

5121
6%

5121
64
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Correct Ans : B

Subject : General Aptitude

Q.No: 99 If a natural number is divided by 7, the remainder is 5. What is the remainder, when the cube of that number is divided by 7?
2444626

afe; U wiHlod W B 7 & faunferd o se @Y, Jvwd 5 g=ar 31 afe S e & = @1 7 3 Ao s 1, [wea @ e

2
A
2
3
B
3
5
C
5
6
D
6

Correct Ans : D

Subject : General Aptitude

Q.No: 100 What should come in place of question mark ‘?’ in the following number series?

2444707
18, 90, 450, 2250, ?
Frfafed v # oA % (7) & ®A R & Sm
18, 90, 450, 2250, ?
22650
A
22650
11250
B
11250
24140
C
24140
12650
D
12650

Correct Ans : B

Subject : General Aptitude
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